Ratio to CMS

<~ 10
% 10
9
g 10
= 108
>
-g_l— 10’
S 6
© 10
o

=
o
(6)]

IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIII|W| IIIIIHYI IIII|W| IIIIIMIIII” IIIIIHYI [

1072
1073
1074

1Nn5

[EEY

0.5

/000 GeV

Jet

_%I I

b

Jet P, (NSD, 0<|y|<0.5)

s
u
u
u
|
u
s
l....
m CMS u
----- ¢ Sherpa 1.3.0 default -
= | | | | | | | | | | | | 1 | |
: T T T T T T T T | T T T T T T T T |

Ll | IIIIIlIII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIllIII IIIIIHII IIIIllIII IIIIIlIII IIIII\III IIIIIlIII IIIII\IILm

Rivet 3.1.10, 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

=



	Contents
	Page 1


